

Oyeneym Dapo Salim

16/ENGG04/050

ENG 381

Elect/Elect

1. $y = e^{x^2+x}$

Let $x^2+x = u$

$$\frac{dy}{dx} = 2x + 1$$

$$y = e^u \quad \frac{dy}{du} = e^u$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$= e^u (2x+1)$$

$$= (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = y'' = u \frac{du}{dx} + \frac{du}{dx}$$

$$= (2x+1)(2x+1)e^u + e^{x^2+x} (2)$$

Recall $y = e^{x^2+x}$

$$y' = (2x+1)e^u$$

$$\therefore y'' = (2x+1)y' + 2y$$

From y^n

$$y^{(n)} = (2x+1)y^{(n-1)} + 2(n-1)y^n$$

$$\therefore y^{(n+2)} = (2x+1)y^{(n+2-1)} + 2(n+2-1)y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

2 i $y = x^3 e^{4x}$

$$\sum_{r=0}^3 {}^n C_r u^{(n-r)} v^r$$

$$v = x^3, v^{(1)} = 3x^2, v^{(2)} = 6x, v^{(3)} = 6, v^{(4)} = 0, v^{(5)} = 0$$

$$u = e^{4x}, u^{(1)} = 4e^{4x}, u^{(2)} = 16e^{4x}, u^{(3)} = 64e^{4x}, u^{(4)} = 256e^{4x},$$

$$u^{(5)} = 1024e^{4x}$$

$$\begin{aligned}
 y^{(5)} &= u^{(5)}v + 5u^{(4)}v^{(1)} + 5(2u^{(3)}v^{(2)} + 5(3u^{(2)}v^{(3)} + 5(4u^{(1)}v^{(4)} + \\
 &= u^{(5)}v + 5u^{(4)}v^{(1)} + 5(2u^{(3)}v^{(2)} + 5(3u^{(2)}v^{(3)} + 5(4u^{(1)}v^{(4)} + \\
 &= 1024e^{4x}x^3 + 5(256e^{4x})(3x^2) + 10(64e^{4x})6x + \\
 &= 1024e^{4x}x^3 + 3840e^{4x}x^2 + 3840e^{4x}x + 960e^{4x} + 0
 \end{aligned}$$

$$y^{(5)} = e^{4x}(1024x^3 + 3840x^2 + 3840x + 960)$$

ii $x^2 \frac{d^2y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$x^2 y'' + x y' + y = 0$$

$$x^2 y'' = w_1$$

$$v = x^2, v^{(1)} = 2x, v^{(2)} = 2$$

$$u = y'', u^{(1)} = y^{(3)}, u^{(2)} = y^{(4)}, u^{(n)} = y^{(n+2)}$$

$$w_1^{(n)} = \sum_{r=0}^n {}^n C_r u^{(n-r)} v^r$$

$$= u^{(n)}v + n u^{(n-1)}v^{(1)} + {}^n C_2 u^{(n-2)}v^{(2)} = u^{(n)}v + n u^{(n-1)}v^{(1)} + \frac{n(n-1)}{2} u^{(n-2)}v^{(2)}$$

$$= u^{(n)}v + n u^{(n-1)}v^{(1)} + \frac{n(n-1)}{2} u^{(n-2)}v^{(2)}$$

$$= y^{(n+2)}x^2 + n y^{(n+1)}2x + \frac{n(n-1)}{2} y^{(n)}$$

$$w_1^{(n)} = y^{(n+2)}x^2 + n y^{(n+1)}2x + \frac{n(n-1)}{2} y^{(n)}$$

$$x y' = w_2$$

$$v = x, v^{(1)} = 1$$

$$u = y^{(1)}, u^{(1)} = y^{(2)}, u^{(n)} = y^{(n+1)}$$

$$w_2 = u^{(n)}v + n u^{(n-1)}v^{(1)}$$

$$= y^{(n+1)}x + n y^{(n)}$$

$$w_3 = y'$$

$$v = 1$$

$$u = y'$$

$$u^{(n)} = y^{(n)}$$

$$w_3 = u^{(n)} v$$

$$w_3 = y^n$$

$$w_1^{(n)} + w_2^{(n)} + w_3^{(n)} = 0$$

$$x^2 y^{(n+2)} + n y^{(n+1)} 2x + n(n-1) y^n + y^{(n+1)} x + n y^{(n)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + x(1+2n) y^{(n+1)} + (n(n-1) + n + 1) y^{(n)} = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - n + n + 1) y^{(n)} = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$